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Q.1 Select the figure from among the given
options that can replace the question mark (?) in

the following series.

m%mﬁgwmmwﬁﬁqﬁ\




Q.2 How many triangles are there In

the given figure?

ﬁlﬂr‘{ %‘7 74

G —

(a) 10
(c) 12

Foas

1

(b) 11
(d) 13



Q.3 Statement/ dY-:

All are cordially invited to participate in the entertainment program.
It's free." An announcement in a newspaper.

JH FAREH $RIHH # YN a4 & fore dugd® smvfaa &1 g8
-3 g 1' TP YURIR U3 ¥ U "Iy
Assumption /H@'[‘:I,'H'H

|. A negligible number of readers read the announcemenusgn Ik}e
newspaper.

. UT3 ] B TP T0Y &I HHER U § 90T Uddl g |

Il. Generally people do not attend such entertainment programs

(a) Bo\f\ﬁhl}ih airﬁge frfee%of Cgs% éﬁsum%tl%r_; I ﬁrﬁnpllc%mgﬁ{
(b) On assumptlon lis mphthW GI?I'ﬁ'ﬁ%?T%

(c) Neither Assumption | nor Assumption Il is implicit /Q?Ifﬂ'qﬁ | 3R

qatga 1 & | I of sfafifea T §
, n Siafea e

(d) Onlv assumpotion Il is implicit /b d




Q.4 Select the correct combination of
mathematical signs to replace the * signs and to
balance the given equation.

Rig! @1 ufeiid B3 3R g 7y weftevor ot
ﬂﬁ%@?@i@uwﬁ@ Sl S{Eg v



Q.5 Which of the following numbers will replace
the question mark (?) in the given series?

fFgfafaa & 9 =19 F J=n & 18 yaar A
yyqrae fIg (?) &t ufawuifud &7

/8, 112, 64, 7?7, 50, 140

7 TR TR



Q.6 In a certain code language, “ARE” Is coded as
“87”, and “NOT” Is coded as “419/7”. How will
“CAT” be coded in that language?
TS Aty o T #_"ARE" awgl "g7" & U H
Pds (BT STdl §, 3R "NOT" &I "4197" & TUH
peds [Pl SITdT & | SHT HTT H “CAT” i fvdr

a)54 b)
60
c)57 d)

| ,::'i. ; ,,‘j_ | ! ‘,‘.-,:':‘ 24
§07 o (BTN o ik HER S EE



Q.7 Select the option that represents the correct
order of the given words as they would appear In

an English dictionary.mmﬁmaﬂmﬁ
feu ¢ W5l & 39 GE U &1 Ul Fear @

o f5 3 T a@ﬁﬁmﬁﬁ-@—gaﬁ%l
1. Potential N )
2. Posthumous \; D
3. Postbox
4. Polymer
5. Popular a)5,4,3,2, 1b) 4,5, 2, 3,

1

c)45321d)1234
gyl /ﬁ; J o S Y lﬂ“}



Q.8 Select the option that represents the correct
order of the given words as they would appear in
an English dictionary.

39 faweu @1 a9 P i fiT T Tl & 39
B! PH BT UfafTa $ea1 g ol fP a1 (LR B

g hIN | femrg S

1. Sourced a) 5, 4, 3, 2,
2. SOorrow 1
3. Soulf.ul b) 4, 5, 2, 3,
4. Soaking 1

5. Somewhere

| ,::'i. ; ,,‘j_ | ! ‘,‘.-,:':‘ 24
S e RS °
Fy7/ 2 eyl i e HENEL Sy B



Q.9 In the following question, select the related
letters from the given alternatives.

muﬂﬁﬁqwﬁwﬁﬁma&m
P gu|

KLMN : IJKL :: TUVW : ?




Q.10 Statements:/dY-:
Some potatoes are onions./PV GI*IFL
T g |
Some onions are tomatoes./@ Y Wl
CHICR 3|
Conclusions:/fTsh:

a) dn@%&&@l"ﬂ?}@ﬁs RreRRR e Hepd 1)

ITARA B &
b) dhly'\'Q:oWéTlPstg)% | SRSl PR |
ITARA PR & |

w

| |
\,;/

c) Either conclusion | or II foIIows/TIT al e |
STT 11 :m:nj'hfmém 3 t: Bl



Q.11 Select the correct mirror image of the given
combination when the mirror is placed at MN as

shown.
ﬁq W%ﬂ‘(ﬂaﬁwuﬁrﬁmwaﬂm
: NTRY@ISr el (o

,co0&asl
,co&rel

c]8981e[
c9E&1e|




Q.12 statement / PY- :

Does practice make a man perfect? |
ama{wmwanaﬁaﬁﬁgwm%? 4 /
Argument | dP =
|. Yes, opportunists take advantage of every
opportunity.

. BT, GERATd! g Hi BT BIIST I3Td & |

Il. No, some people hardly learn by practicing.

(%al) B qih =Tl U ol AT e kb WRagpgicIHl wetgd

(b) Neither argument | nor argument Il is strong.?l% | g1 db || §

A Dig. 28t Asigd A8l 2

(c) Only argument Il is strong.®

A d || Holgd o |




Q.13 Which of the following letter-clusters will
replace the question mark (?) in the given series

ta(gr;nlgke It Ioglcallé rgclfetﬁe’&ufaqﬁﬁm

&R - LTW 2
i fﬂ -7 f%la(
a) TRP D)
TON
£} SQO )

| ,::'i. ; ,,‘j_ | ! ‘,‘.-,:':‘ 24
PR PRy
§07 o (BTN o ik HER S EE



Q.14 Select the option that Is related to the third
number In the same way as the second number Is
related to the first number and the sixth number Is
related to the fifth number.

39 fapeu &1 9+ ifore o Fast S=rm 3 3 uarR
Haftd g ford yoR gt W ugdl Wen ¥ weftd
%aﬁvmmuﬁé’rm@rwﬁa%l 2]
10:0::12:? ::16: 3 =

a) 4 o)
5
c) 3 d)



Q.15 Select the option figure that will replace the
guestion mark (?) in the figure given below to
Com lete the pattern.

&1 Ig- Do o A § 1%
rv——-v‘mﬁ$ﬁ—musrqﬂ$ﬁ|a(f>)

‘I .” |’ o= )

SN Y Y N




Q.16 Select the correct mirror image of the
given combination when the mirror is placed at
MN as shown.

wwﬁﬁ%ﬂé’ra&muﬁrﬁwmm
MNWWW%‘]




Q.17 Which of the following numbers will replace

the question mark (?) In the (given

series?/MUfaad #§ | &9 | 9= & 15 gaar

A yyarae g (?) &t ufa=uiiud s
11, 20, 43, 94, 187, 336,/ 5BB5
? '




Q.18 Which letter cluster will replace the question
mark (?) to complete the given series?

&l T3 4adr &I Yol H31 & fore &4 91 31gR 9g
yyara® fRIg (?) o1 ufafud s3m?

ANGE, DSBB, GXWY, ?

a) JBRVb) JCSV
c)JBSV d)

\ / TN SN W R N e N X
‘ N, B, e \ e =
A . "‘,g \ 9
o R DNCRN
) D =
\ \!
~

: & L%



Q.19 In a certain code language, 'RAIN' Is written
as '182915"' and 'SUN' Is written as '192214'. How
will 'MOON' be written in that language?

U Hfdd & HIUT | 'RAIN' &1 '182915' & =T H
foraT ITdT § $fiR 'SUN' 1 '192214' & ¥4 | forar
SITdT 81 39 HTHT H 'MOON! ﬁﬁﬁm/mﬂ?\

Ll
NS Y

a
E==N
e

2)
13161415
b)
13161616

£i7) o (TR e R BRI



Q.20 The second number In the given number
pairs Is obtained by performing certain
mathematical operation(s) on the first number.
The same operation(s) are followed in all the
number pairs, EXCEPT one. Find that odd
number pair.

NI ST ST UR
i ST T ST T ot B
@ﬁwmﬂm ﬁwmm\ﬂaﬂw

fPaT SITaT 81 98 oS H-AT g JTd BT |
a)21:431 b) 15 :

225
c)13:169 d) 12 :

A e

S | |
L W eE S > S MiELR
G2 TR G R R



Q.21 Two different positions of the same dice are
shown, the six faces of which are numbered from
1 to 6. Select the number that will be on the top If
the dice Is resting on '6'. _

AT U Bt ¢ faftrs fRufaf g=rfs € @ R
B8 B IS 1 ¥ 6 dP HHifdbd g | fe urdT, '6'

a3  b)2 ¢)1 d)



Q.22 In a certain code language, 'APPROACH' is
written as '116161815138' and ‘APPROVAL’ is
written as ‘11616181522112°. How will 'POOL' be
written in that language?

S A8 ®e HTaT §, 'APPROACH' &1
116161815138' & =Y T 3R 'APPROVAL' &Y
'11616181522112" %Wﬁﬁl@ﬁrﬁn% It T
¥ 'pooL’ I 4 ferar smem? Lo e )

a) 16141412 b)
16171712
¢) 16151512 d)

£i7) o (TR e R BRI A 010919190



Q.23 Select the option that Is related to the third word
In the same way as the second word Is related to the
first word. (The words must be considered as
meaningful English words and must NOT be related to
each other based on the number of letters/number of
consonants/vowels in the word

39 fawey &1 999 S o 9 Mg A I PR
Tdferd g for TR givT Xeg g g | Haiftrd 81 el
aﬁaﬁqﬁ%@%wﬁmwm@aﬁvw
Bl 3&RT P HBAUST) FaShiBb TSP BIUR W TH
WﬁquﬁWBmaﬁ%ﬂmg% Bravery

Sinister : ? oy - C) Omlnous/\’rl'{[‘l-r d) qdld /

oy eC PaNG O B




Q.24 A paper Is folded and cut as shown. How
will it appear when unfolded?

Bl ST 3R
e e 1 s o o Rt e

EUNEN
TS RS T PN
un%ﬂ o N7 NN O




Q.25 Which of the following numbers will replace
the question mark (?) In the given number

series?

ﬁqﬁr@aﬁﬁﬁqmmzﬁﬂs‘mmﬁ
UYar® I (?) DI ufawiTid Sl

458, 462, 446, 482, 7,
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